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Note : Section - A is compulsery. Attempt one question
from each Unit in Section - B. All questions carry
equal marks.

SECTION - A

1. Explain the following : Bx2=16
(a) Difference between mission and vision.
(b) Characteristics of strategic management,

(c) Necessity for company to go global.

(d) Personal values.
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(e) Technology transfer.

(f) Strategic piggybacking,

(g) Uses of McKinsey 7-5 model.

['I‘l\I Strategic contral.

SECTION - B
UNIT - |

2. “Strategic Management is the set of decisions and
‘ ']:;‘tinl"l‘-i resulting in the. formulation and implementation

:'.-f plans déﬁigm}d to achieve a company's objective.”

In the light of the above statement discuss the

process of strategic decision making. Also outline the
significance. 16

3. Define the term mission. How mission statement is
evaluated ? Explain. 16

UNIT -1l

4. What does porter's 5 forces model convey ? Elucidate
- 16
with suitable examples.

5. Define the term strategy. Explain in dutaill _tiuﬁ
corporate strategy in terms of directional strategies as
growth, stability and retrenchment strategles. 16

UNIT - Il

8. Analyse certain methods to implement a retrenchment

strategy without creating a lot of resentment and conflict
with labour unions, 16
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7. Define the term politics. How do conflict and politics

affect the formulation and implementation of generic
competitive strategies ? 16

UNIT -1V

8. What do you mean by strategic control process. ?
Analyse the 'DuPont’ strategic control process. \ 16

\). What measures an organization must adopt to stop
itselt from entering a dec]Lp\{ ge of organizational

life cycle ? &6 16
NS
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